Congruent triangles (HKMO Classified Questions by topics)
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In the figure, PQ =PR =8 cm and ZQPR =120° . o
A, D are the mid-points of PQ, PR respectively . Q B C

If ABCD is a rectangle of area Jx cm? , find the value of x .
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In AABC, AB =8 cm, BC =6 cm and ZABC = 90°. If the bisector of ZACB cuts
AB atR and CR =3+a cm, find the value of a .
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A rectangular piece of paper of width 6 cm is folded such that F
one corner touches the opposite side as shown in the figure .

If 6=230°and DE =xcm, find the value of x .
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In figure 3, the area of the square ABCD is equal to d. IfE, F,
G, H are the mid-points of AB, BC, CD and DA respectively
and EF = 2, find the value of d . ° e
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The figure shows AABC, P is the mid-
point of AB and Q is a point on CP.

It is known that BQ L CP, PQ =6 cm, B
CQ=9cmand AQ =13 cm.
Find the area of AABC .
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192 5 8 8 75 cm?
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